Makehixck

Construct Your Dreams

AUZYWQAA -cw

[ 9272 Makeblock A0, TWJI Aa@ YNOz~ +K

z 3 A 2 uT o At d_ > 3{M2D

_a 2 M L. M b bEBE§ A ! ZT1ar oM KL x| To
FT %z = T z 1" AdHM0| 2 nosiz>

3N 0] (mm) h (kg) W y (m/s)
ol 1 69306; 90410 1
ol 2 7<908450440 1

@c oo X co o
ooomnoo%
@ o = ———" ° 0
°© o8 oo oo ®
° °
oo )
o o
o &
s00 o0 i
o0 o
°

S
°
—_—
o0
[e=—="s 1
ee
———r—
—_—
®e
e
o0
——p
oo
°
.

360

° 0
o0 ° 0 ° o °
gm0 0

06 c—oreo=——T—> §0
£ e o LX) e o ° @ 3
@ @ %@
o0 o0
l 256
r 1
386

1/21




Makebi%ck

Construct Your Dreams

Et": Ay T -
E > ¢ :DC12Vv
E 3 i :Makeblock Orion (Arduino UNO compatible)
E Y 2 :Arduino
E AA:24GH 1
£ .o
E y:1m/s
12v36mm A~ La x
M 2 LeAZ v31983
/ € rpm ¢ 556°43(
h N~ (kgf.cm) 7
h > Le AT 2.500
h g rpml 4:; ° 43(

2/21



Makehixxck

Construct Your Dreams

nm. & = ¢Cv» W

HKz  mDCI2Vdaé&d + %a C12vEl ¥ - &l @
Esdle%bb MZAGEshyh CDC12v ¥ -1 1 Ew T3
0 ArTY oKl oF B W -

V. H " Y
e J_® edt R2j G~ J_ + % K T pWQs |
a'Hj e  mMNMTE . F1 & '{. X DJ™& 'HQq

~

V. T

2 X 360 x 256 x 3mm

Aluminum Sheet

2 X 100mm Mecanum
Wheel -Right

4x M4 x 4 x 8 -Key

2 X Beam2424 -504

1 x Makeblock Orion

20 x Countersunk
Screw M3x8

3 x Beam2424 -312

1 x Micro USB Cable

36 X Screw M4X8

4 x 36mm Motor Bracket C

2 X Me High -Power Encoder
Motor Driver

12 x Screw M4X14

4 x 36mm Encoder DC

Motor

3 x 6P6C RJ25 Cable-20cm

850Vfuhz P7]

4 x Shaft Clamping Hub
8mm -C

4 x 2.54mm 6P Encoder
Motor Cable Q300mm

36 x Nylon Lock Nut

4mm

7 { EUDFNHW 60

1 x High -Current T -Type

Converter Cable

14 x Brass Stud M4 x 16

2 x 100mm Mecanum
Wheel -Left

1 x Wireless Game Handle
USB 2.4G

1 x Tools Package

1 x Me USB Host

10 x Nylon Cable Tie 2 x100

3/21



Makehixxck

Construct Your Dreams

4/21



Makehixxck

Construct Your Dreams

5/21



Makehixxck

Construct Your Dreams

~

v

L1 NIhA 364 2 G "t "

6/21



Makehixxck

Construct Your Dreams

7121



Makehixxck

Construct Your Dreams

D]

8/21



Makebi%ck

Construct Your Dreams

Ve | 4 e

9/21



